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AT I, YN FAeldanay e, e areig (8.1)
HiaRE Heaida TheT — 2024
HITHY, WoH '\eﬁfﬁ".’\' — VAC (Herbal Plant & Human Health)
Rk . ’ M.Mks-10

1. gt &1 aFfd® 9 Bian 87 (The botanical name of Tulsi is-)
(A) Azadirecta Indica (B) Mangileralndica  (C) Ocimum Sancturm (D) Ocimum Bacilicum

2. ISAFAT ERU=EET (W) e | @ e & 7
(Rauwolfia Senpentina (Senpgandha) Belongs to Family)
(A) Hre-RT (Solanaceae) (C) warara==it (Apocynaceae)
(B) #reraeh (Malvaceae) (D) WA (Rubiaceae)

3. Bie! fHa wra f5ar Wrar 87 (Coffee is Obtained from-)
(A) Flower (B) Leaves (C) Fruits (D) Seeds

4, TG T AAWTF A9 & ? (Botanical name of Tea is -)
(A) Sinensis Thea (B) Sinensis (C) Thea Sinensis Syn (D) Coffea arabica

5. Boal & arFedfa® A & ? (Botanical Name of Termeric is -)
(A) Curcuma Longa (B) Zingiber officinale  (C) Syzygium aromaticum (D) Piper nigrum

6. 3CYd UF ® ? (Gingerisa-)
{A) Bulb (B) Rhizome (C) Tuber (D) Corm

7. A T #EgqYl <ife 87 (Brahmi is an important tonic for-) »
(A) Brain (B) Body (C) General Health (D) None of these.

8. BIP Ugd [T & ? (Coffee Plant Belongs to :)

(A) =REfATA  (Sterculiaceae) (B) ®fAUAT  (Rubiaceae)
(C) TAm"  (Annonaceae) (D) wE%Y (Cruciferae)

9. I &I IS T & ? (Botanical name of tea is)
(A) Piper nigrum  (B) Thea/Camellia Sinensis (C) Coffea Arabica (D) Tectona Grandis

10. AT H R AT fl BIdT 87 (Cereals are rich in -)
(A) @iEEERT (Carbohydrates) (B) ®v @ vd fdciA9 (Some Fat and vitamin)
(C) M& (Protein) (D) 39 @1 # (All of These)
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uH AaRe qeaiea qda, Riaer 2024 frad -, AR -1
SUBJECT - BOTANY
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Note - Tick (\/ ) the Correct Answer -
Qu.l. i Ruifew vgatain &9 SuzHsal @1 -
(What are the subunits of prokauyotic ribosome)
a) 505, 305 b) 705, 305
3) 605, 405 d) 605, 305
Qu.2. Bif¥reT A frarore frad a9 (dRa ) o -
(The functional activity of the cell is controllied and directed by)
a) Wi gRT (by protopast) b) wgciaifgar g1 (by mitochandria)
¢) »<=® g1 (by Nucleus) d) af=aT g1 (by Nucleolus)
Qu.3. urzY FHFT g R FHUFT A Fax 2—Difference between plant cell and animal cell
a) 3 weaf) wifa@r Endoplasmic reticulum b) gciwifgar (Mitochonduia)

¢) WA (Ribosome) d) dfgate (Centrioles)
Qu.4. Rfeaar &1 9gy ¥¥R 28—The plant body of Riccia is a )

a) WIRIEIgT (Sporophyte) : b) wIRIf%e (Sporophyll)

¢) ¢fwIge (Apiphyte) d) ficiw3e (Gametophyte)

Qu.5, ITHISCH <HBIBIReH 8@ B 8—(Bryophytes are different from pterodophyes)
a) WA ard GlWgeH W (In floating antherozoids)
b) w@da Ndficiwgey # (free gametophytes)
¢) amafmfar § (In Achaegonia)
d) dvgeR Bad @ JURAfd A (In absence of Vasular tissue)
Qu.6. 919 BIYM ST qTe™ AT Hearal e— The outer paut of a plant cell is called—
a) BT Ricell (Cell membrane) b) F[feFa (Cuticle) '
¢) BIem fAfia (Cell wall) d) s A9 (Plama membrance)
Qu.7. faww diror@mar it @t 2— (Tleterospory is found in)
a) TS HEEd (Lycopodium) b) RrfoAan (Selaginella)

¢) Ig-tar (Rhynia) d) sFdifued (Equisetum) d1

Qu.8. Sfiifaa ax fstfa ofat = ... 3 R W) A Fd agae @ fmfea fear < woar 2—
(Living and non-living organisum can be differentiated unrexceptionally on the basis of ____ )
a) gfg (Growth) b) TITIEY (metabolism)
¢) dar (Consciousness) d) YW (Reproduction)

Qu. 9. fr=iferRaa & @ fara #If¥@ sim ¥ gy 8 qmar s -
(Which of the following cell organelles does not contain DNA)
a) @& (Nucleus) b) @IRIw*e (Chloroplas)
¢) drgarE® (Lysosome) d) srsetsifgar (Mitochondiya)



Qu.10. f=1 % | &Y wr HfA@T 371 o=y Hf¥HT F IqulRea guar wrew SIReT F g sar -
(Which of the following ccll organelles is absent in Animal cells and Present in a plant cell)

a) Hif¥rer il (sell wall) b) Rfea®r (Vacuole)
¢) Wligee (Cytoplasm) d) wrsctsifgar (Mitochodiya)
Qu.11. #13rdd & J=AFT & FRT ol £ (Stady of algee is mnown as)

a) Mycology b) Mycetology ¢) phycology d) None of these 394 & @i &Y

Qu.12. ‘HIFT wreg fHat fear 2 (The term “cell’ was given by)

a) Virchow b) L.eeuwenhoek c¢) Malpighi d) Robert Hooke
Qu.13. TR B Freffa weral w wrRe ©U @ @ wEd |

(Non Living substances of a cell are collectivelyknown as)

a) Cytoplasm b) Plasmagel ¢) mesoplasm d) Deutoplasm
Qu.14. AWIGIZCH &1 Y& UQY YR €ial 2— (The main plant body in bryophytes is)

a) WixIBgfed (Sporophytic) b) Hflevwvgfe® (Gametophytic)

¢) Ticiefcs AR WRIEER® (Gametophytic or sporophytic)

d) 7 o ddetwsfes ik 7 & WiRiegfeds (Neither gametophytic nor sporophytic) .
Qu.15. FIAIBIEEH ¥ WIRT YOI & Hed & (The Female sex organs in bryophytes are celled)

a) Ascogonia b) Archegonia . ¢) Antheridia d) Oagonia
Qu.16. aw B HIf¥IrFr g N &t 2— (cell wall in fungi is made of)

a) degdia (Cellulose) b) s1sf (Chitin) ¢) wrd (Starch) d) 37wl 1 (all of these)

Qu.17. $9F AT &IAT 2 fungi are always-
a) EWAUH (Autotrophs) b) Faiusiidl (Saprophytes)
¢) fassaisl  (Heterotrophs) d) T3Sl (Parasites)
Qu.18. d@iwTger @ 3add amd &— (Thallophyta includes)
a) Algae and fungi b) Fungi and bacteria
c) Algae, fungi and lichens d) Algae , fungi bacteria and lichens
Qu. 19. u+flT vd fuffa 4 g sicr &l 2— The main defference between non-living and living is-
a) MHR ¥ (In size) b) wfa X faF@ # (in movement and growth)
¢) Wilagen & IuRAfd A (In presence of protoplasm) d) 399 ¥ ®I¥ &I (None of the above)
Qu.20. g REIfed A f&¥d 370 &~ (Eukaryotic Chromosomes are formed from)
a) DNA b) RNA
¢) DNA and Protein d) RNA and fat




MADANLAL SAHU GOVERNMENT COLLEGE ,ARMARIKALA

INTERNAL ASSESSMENT 2024-25
SUBJECT- ARTIFICIAL INTELLIGENCE (VACQ)

Date- 28-09-2024 -~
TIME- 1 HOUR MAX. MARKS - 10

Q1. What is the full form of “AI”? “Al” &7 T"i’ 4 497 %”

a) Artificially Intelligent b) Artificial Intelligence

¢} Artificially Intelligence d) Advanced Intelligence

Q2.Who is the inventor of Artificial Intelligence? TR 2wy & wfRwrs sta &
a) Geoffrey Hinton b fies b) Andrew Ng (’321 TASAY

¢) John McCarthy SiieT Hararaff d) Jiirgen Schmidhuber a‘ﬁ?{ fﬁ%ﬁ?

Q3.Based on which of the following parameter Artificial Intelligence is categorized? ffaRa ¥ @
e Ry & IR W R RvsT w1 witga B w=r '

a) Based on functionally only $del HriTcHSHAT WX ITUTRT &

b) Based on capabilitics only FI FAIHT F HUR W

¢) Based on capabilities and functionally STHaTHT 3R FRTcHFT & IR R
d) It is not categorizedg'?f a?ﬁ'%_d' Aer foram T B

Q4. Artificial Intelligence is about PR ZHfoew Fay AL

a)Playing a game on Computer m;crr W AT QAT

b)Making a machine Intelligent 31T &I gefaraie daT=m

¢)Programming on Machine with your Own Intelligence H9=iT g #r gefasta & |y #fe oY
WA

d)Putting your intelligence in Machine T & 39T w AT

_ Q5. The application/applications of Artificial Intelligence is/are... FTfERPfAAT FRAST F7

FTTI/FTTLNT e
a) Expert Systems fa9ws sonfarar b) Gaming JfRT
¢) Vision Systems faai Rwe# d) All of the above 3ITUFT THT

Q6. Which is considered the branch of Artificial Intelligence? ERFRTT RTAAT & wrar FJ
AT ST &7

a) Cyber Forensics HIg&{ wRE® b) Machine Learning g7 HfeH



¢) Network Design scas 33Tge d) Full-stack Developer Fef-¥C& SAeity
Q7. Artificial Intelligence is classified into category processes. wfefras m 0
Aofy wfdmait & aeftgrar Ram o 1

a)2 b) 5 c)3 d)4
Q8. is not an application of Al . Al &1 a@n’m AdY 4]

a) Database Management System AT FEUT FOTe
b) Digital Assistants F3fee Ferds

¢) Natural language processing TRt TN THEHIOT
d) Computer Vision EFW!\ET zfee

Q9. is a component of AL wIé F1 UF UCE B
a) Training FTRV&TOT b) Designing TE=TiaT
¢) Leaming TGl d) Puzzling SENET

Q10. What is Artificial Intelligence? s ReR RRew 1 & |

a) Artificial Intelligence is a field that aims to make humans more intelligent E ARG géﬁ?;l'ﬁ Th
ﬂwm%ﬁma&wmﬁmaﬁﬁﬂmm%

b) Artificial Intelligence is a field that aims to improve the security fepRe 33@3'3 s O 8T §
ForeeP! 3Eaed RO # GUR & ¥

c) Artificial Intelligence is & field that aims to develop intelligent machines e Rae m UF o
& ¥ forae oy gefuAs e fFfla &6 €

d) Artificial Intelligence s a field that aims to mine the data, 3TETRRRITE gefarsre U O &1 g
oo @ed 3T ASA A ©



MADANLAL SAHU GOVERNMENT COLLEGE /ARMARIKALA

INTERNAL ASSESSMENT 2024-25
SUBJECT- COMPUTER FUNDAMENTAL AND OPERATING SYSTEM (DSC)

DATE- 30-09-2024
TIME- | HOUR MAX. MARKS - 20

Q1.What is the full form of CPU?
a) Computer Processing Unit b) Computer Principle Unit
c) Central Processing Unit d) Control Processing Unit

Q2.Which of the following computer language is written in binary cedes only?f=IlR@a F# ¥l

FYET AT Fael argad) Fr2 F el st 2
a) pascal b) machine language c)C d) C#

Q3.Which of the following is the brain of the computer? PFff@T F A Fhr FOYET T AfASF §7 -

a) Central Processing Unit b) Memory
¢) Arithmetic and Logic unit d) Control unit
Q4.Which of the following is the smallest unit of data in a computer? FrFIfafRT & T whr oY FoqeT A

A TR O T
a) Bit b) KB ¢) Nibble d) Byte

Q5. Which of the following unit is responsible for converting the data received from the user into a
computer understandable format? fArafaf@a # ¥ st @t FHT$ IULTHar & wIed 3T E'W{a' &
A T 9 & gRafda F@ & e Seer

a) Output Unit b) Input Unit
¢) Memory Unit d) Arithmetic & Logic Unit

Q6. Which of the following is not a type of computer code? ﬁmﬁﬁaﬁ#mmﬁq\a RIT FTTF

TFR AL
a) EDIC b) ASCII ¢) BCD d) EBCDIC

Q7. Which of the following are physical devices of a computer? Rrafaf@a F =t *‘2{\31'* sifa=

IYHLOT §?

a) Hardware b) Software

¢) System Software d) Package

Q8. The generation based on VLSI microprocessor. frearaans AEEmRET o i Licay
a) ]SI b) 2n:‘ C) 3rd d) 4Ih

Q9. generation of computer started with using vacuum tubes as the basic components. ﬂ?ﬂ{;‘{'?ﬁ

%wmﬁ%m#ﬁm@ﬁﬁmtgmg?l
a) lst b) e C} 3(‘(1 d) 4th



Q10.ULSI stands for? ULSI %1 Aada ?

a) Ultra Large Scale Integration b) Under Lower Scale Integration
¢) Ultra Lower Scale Integration d) Under Large Scale Integration

Q11. Which of the following is not a type of computer on the basis of operation? AR AIRA F

TR O FT AT HRLT F THN ¢ ¥?
a) Remote b) Bybrid ¢) Analog d) Digital

Q12. A computer that operates on digital data. T® ﬁa'l}'{' 3 Rfed 3T W HA FIdAT Tl

a) remote b) hvbrid c¢) analog d) digital
Q13. are used for solving complex application such as Global Weather Forecasting.
mmmmwmmmmmmmtmmmt

a) Super Computers b) Public computers

¢} Mobile computers d) Hybrid computers

Q14. computers are lower to mainframe computers in terms of speed and storage capacity. .

wﬁmmmtm#mm#mmwﬁu
a) Mini b) Super ¢) Mainframes d) Hybrid

Q15. Which of the following is not a positional number system? frFAfar@d # ¥ wta o ve Rudig @&

worrelt A€ &2

a) Roman Number System b) Octal Number System

¢) Binary Number System d) Hexadecimal Number System

Q16. The octal equivalent of 1100101 is . 1100101 FT F*TH FATH ¥

a) 624 b) 145 c) 154 d) 149

Q17.The input hexadecimal representation of 11 10 is . 1110 FTFATE Fanfea vt
¥

a) 0111 by E c) 15 dy 14
Q18. Convert the binary equivalent 10101 to its decimal equivalent.irsaﬂm@ﬂ' 10101 Ft IHFH TUHAT

FAGET A T |

a)2l b) 12 c) 22 d) 31

Q19. Which of the following is considered an input device?Prafatad Aaa gaqc 2w At AT
&

a) Monitor b) Printer ¢) Keyboard d) Speaker

Q20. Which output device is commenly used for displaying text and images? e ik oRE = et

m#mmwmmmmmmma—z

a)Mouse b)Keyboard
¢)Monitor d)Scanner
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g : @A 9RF (CHEMISTRY)

Qu.1. 1 = 3, then the value of Magnetic quantum numbers are -
a) 11, 42, +3 b) 0, £1, £2, +3
3H-1,-2,-3 do, +1, +2, +3

Qu.2. Which one of the following is the smallest in size-
fasfafag & @ o9 @1 e § ¥a) viel 2—

a) N* b) O* 0 F d) N*
Qu.3. Highest lattice Enrgy will be of- Swaa¥ Wid® &ui g1l
a) Lil b) LiCl ¢) LiF d) NaF

Qu.4. An electron has spin Quartum no. +1/2 & magnitic Quantum No. -1, 1+ earnot be present in the
following orbital- ‘
F gaTelT @ Re gaied €@ +1/2 3R geda F@red @ —1 gidl € A%
fafafaa sae 4 wuReaa a8l & @ 28— '
a) d-orbital  b) y-orbital c) p-orbital d) s-orbital
Qu.5. The total number of orbital in/auociated with principal Quantum number n= 4 are-
YqE daicH WEll n=4 ¥ /649 FaS B A GE&A 8-
a) 12 b) 14 ¢) 16 d) 8
Qu.6. “No two electron in an atom can hav the same set of four quantum number is the statement of which
of the following- U uvare ¥ faell +ff a1 soegM) ¥ IR darew wwiEl & FAE e AE ¥ wwa
? frafafaa ¥ 9 feust s - '
a) Pauli Exclusion principal ISell aruasid Rigr
b) Hund’s Rule of Maxximum Multiplicity §¢ &1 aferaan sgear o1 fFam
¢) Aufbau Principal atw fugrw
d) (n+)rul  (o+D)fFay
Qu.7. Which of the following element has highest Negative value of Electron affinity
frafafaa ¥ @ fra a3 gaeglE dgar &1 STaad TS A 8-
a) f b) Cl ¢) Br d) 1
Qu.8. The correct order of increasing size of following speier will be-
fepafafaa yonfoal & 3gd ER &1 |E A §T-
a) Na* <Al <F-<mg® b) mg*Na* <F- <Al
c) Na* <Al <mg¥<F- d) F-<Na*<mg* <Al
Qu. 9. The correct order of second Ionization potential of e, N, O & f s
E,N,O0 & F & gul amrd fawg &1 w8 &4 8-
a) e>n>o>F b) O>F>N>C = ¢) O>N>F>C d) F> 0>N>C
Qu.10. The correct socies of Electronegativity order- -
a) N <O <Cl b) N<Ci> O ¢) ClkO<N d) O<CKkN




Qu.11. The Value of 1 = 2 maximum no. of electron can be filled-
& 99 1=2 % aftrsaq gaagla @) 4@ —
a) Se- b) 3e- ¢) Ge- d) 10e -
Qu.12. The correct formula to represent Heisenbery uncertainity principle-
faf¥aaar @ fagra &1 9 fawuo —
a) An.Ap >h/dn b) an.Ap zh/4n ¢} An.mAv <h/4n d) An.Ar <h/4n
Qu.13. %= h/p is given by- frfafaa & ¥ \ =h/p &1 feuer airha @we & |
a) De-broglie equation (€1.31S%#1.) b) Einstein Equation 3ng=<Tse WiewW
¢) Uncertainity principle 3rfiftaqar wfiwwm
d) Bohr principle ¥ i@ .
Qu.14. If Azimuthal quantum number 1= 2 then the valu of m
afe Faieq W@ 1=22, ot m & wwg w9 g —
a) 3 b) 5 )2 d) 4
Qu.15. Th Valu of m for last electon of d*
d*® dfem geleglw & fov m &1 3= whn
a) 12 b} 14 c} 16 d) 8
Qu.16. If n =6 & 1 = 3 then the orbital?
n=6d1=39 alc! H&d & forar ARAM
a) 6s b) 6p c) 6d d) 6f
Qu.17. Which element is used by Nagarjuna manimum time-
wEE ST A AT @ g fae org W owew sfie warr fear wan-
a) Copper b) Para ¢) Iron d) Zinc
Qu.18. Iodide of which af the following metal is most covalent?

frrafafaa § fea g &1 smde afrean agaatsh -

a) Li b) Na ¢ K d) Rb
Qu. 19. The effective nuclear charge expoienced by the is electron of potasium is -
a) 2.2 b) 1.1 c) 4.2 d) 34

Qu.20. The relation ship between atomic number (z) effective nuclear charge (zgg)& shielding constant () o
is- GRATY] W& (z) WATd 9RIY] Y (zgg) AR uRREvw feris (o) @ 99 wyw & -
a)z=12gg-c b) zgg=z+¢ ¢) z=zga+o d)zgg=1z-0o




Madan Lal Sahu College, Armarikala Balod
Internal Assessment Subject Chemistry in Daily Life (VAC) 2024-25

Date -28/09/2024 MAX MARKS-10

Q.1)A broad spectrum antibiotic is

(a) Paracetamal  (b) Pencillin (c) Aspirin (d) Chioramphenicol
Q1)IF TP WiaeH TIarifes &

(a) DT (b) TR © TfRaRA (g) FeiebeTa

Q.2) 2-Acetoxy benzoic acid is called

(a) Antiseptic (b} Aspirin (c) Antibiotic {d) Mordant dye
Q.2) 2- TR AES oRrs &) a1 &

(a) TR (b) TRARA © TtamEifees (o) HISe 818

Q.3) Which of the following drugs reduces fever?
(a) Analgesic  (b) Antipyretic () Antibiotic  (d) Tranquillizer

Q3) Pufafad o 3 S99 gar gor & o1 bidl 82 (a) TSRS (b) WS © Wamfes (d) dfdageR

Q.4) The correct structure of the drug paracetamoi is:

(a) HO —@—Co NH,
®) Ho-@—m ICOCH,
(©) CI —@~CON H,

(@ <l ——@-NHCOCH3

Q.5) When salicyclic acid is treated with acetic anhydride we get

Q. 5)are dfafafer wfie & ofdfes vagrees & arr Ruse &m ar &
(a) Aspirin (b) Paracetamol (¢) Salol (d) None of these

Q.6) Aspirin is chemically?

Q. 6)tfEaRs oarafas s F &

{a) Methyl salicylate (b} Ethyi salicylate (c) Acetyl salicylic acid {d) o-hydroxy benzoic acid
Q.7) Which of the following vitamins is called a water-soluble vitamin?

Q. 7feraaf@m # & fFe Raffs #) 9= & gaie Rafds Fer o g
(a) vitamin A (b)vitaminD (¢} vitamin C (d) vitamin K

Q8) Which of the following vitamins are called fat-soluble vitamins?

Q 8Pl & & P W R aw # genie R F I
(a) vitamin 8 (b) vitaminE  (c) vitamin C (d) vitamin B2

Q9)Which of the following vitamin helps in blood clotting?

o. 9)fe=fafa & & FiF ar Refda @ #1 g1 STHa # A T ¢
(a) Vitamin A (b} Vitamin C{c) Vitamin D (d) Vitamin

Q.10) Which is the leading cause of biindness in children worldwide?

Q. 10) ReE o7 & a=af # UG FT YHW FOT FAT §?

(a) Glaucoma (b) Cataracts {c) Colour blindness {d) Vitamin A deficiency
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Qu.1 Which scientist conclusively proved that life on the present Earth could have
ariginated only from pre-existing organisms?
a) Luise pasture b) Charls Darwin c) Weisman d} Boxman

Qu.2 What is most important element for origin of life?
a) Water b) Oxygen c) Carbon d} Nitrogen
Qu.3 The theary of spontaneous generatian was rejected by which scientist?
a) Pasteur b} Lavoisier ¢) Kuhn d} Lamarck

Qu.4 Life originated on earth about ___
a) 8 billion yearsago  b) 5 billion yearsago ¢) 4 billion yearsago  d) 3 billion years
ago

Qu.5 What did Stanley Miller synthesize in his evolution experiment?
a) Virus b) Protein ¢) Cell d) Amine acid

Qu.6 Miller and Urey had performed an experiment to prove the origin of life. They toak
gases H20 and CH4 along with __

a) N2 and H20 b} NH3 and H2 ¢} CH4 and N2 d) CO2 and NH3
Qu.7 __is the evolution from coacervates to simple cell structure.

a) Chemical evolution b) Biological evolution c) Organic evolution d) Inorganic

evolution

Qu.8 Protobiont was formed hy a cluster of _

a) micro molecules b} nucleic acids ¢} lipids d) macro molecules
Qu.9 What was the mode of respiration for the prokaryotes during biological evolution?

a) Aerobic b} Anacrobic ¢) Cellutar d) External

Qu.10 Which was absent in the atmosphere at the time of origin of life?
a) NH3 b) H2 c) 02 d) CH4

Qu.11 Sting cells are the main character of

a) Cnedaria b} Porifera ¢} Arthropod d) Protozoa

Qu.12 What is the common name for Alcyonium?

a) Brain coral b) Jelly fish c) Dead man's finger  d} Sea pen

Qu.13 zooids that build coral

a) Palyp b) Medusa ¢) Gastrozooids d) None of these

Qu.14 corallite is......

a) Animal b) Insect c) Coelentrata d) Skeleton of single
caral

Qu.15 Which of the following fish is a catadromaus fish

a) Eel b} Hilsa ¢) Salmon d) Labio

Qu.16 In which direction do anadromous fishes move?
a) Estuary to ocean b) River to ocean
water

c¢) Ocean to estuary d) Ocean to fresh

Qu. 17 Neoteny is found in which amphibian?

a) Frog b) Ambystoma ) Alytes d) Rana
Qu.18 Which ambhibian is krnows as mud eel?
a) Bufo b) Hyla ¢) Rana d} Siren

Qu.19 what is parcntal care?
a) Protection of egg and nymph
¢) a+b bath

b) Care of egg and nymph
d} none of these

Qu.20 Which frog moves one to another place with tadpoles on its back.
a) Dendrobetes b) Phylobetes c) a+b both d} none of these



